EpWTAOCELG OTO HAONHUA BLOUNXOAVIKWY NAEKTPOVLKWV.

1) Tlog eivor KATOOKELOOUEVOG O SPOUENS EVOG ETOYDYIKOD KIVITHP,

2) TuxoAeitar odicOnon kivntipov;

3) Xe moteg katnyopieg dtakpivovot ot acHyypovol kvntipeg E.P. pe culdékn;

4) Xe moleg katnyopiec dtokpivovtal ot acHyypOvVol ETAYWYIKOL KIVITHPEG;

5) Ilov ypnoiporotovvtar ot kivnehpeg Universal;

6) ITo¥ xpnoIOTOIOVVTAL O1 KIVITHPES OVTIOPAoNC;

7) Amd mola oxéon diveTal 1) POTH TOV AGVYYPOVOV TPLPACIKAOV KIVITHP®V;

8) Iloia 101 AcHYYPOVOV TPLPAGIKOV KIVIITHPOV YVOPIleTe;

9) Iwg gival KATACKEVAGHEVOL OL KIVITNPES LE PPoyuKUKA®UEVO dpopéa;

10) Img gival KOTAGKEVAGUEVOG O OPOUENS KOL O GTATNG GTOVG LOVOPOGIKOVG
KWWNTNPEG GEPAS;

11) TTob tomobeteitar To fondnTikd TOMYHO EKKIVIIONG GTOVG HOVOPAGTIKODG
KWVNTNPES

12) TTio €ivan T0 KOPLO YOPAKTNPIGTIKO OGOV 0pOPE TNV KiVI|GT TOV LLOVOPUGIK®OV
KWV TNPOV KOl TOG UTOPOVLE VO TO OAAAEOVLLE.

13) Tlig pmopodpe va aALGEOLUE TNV POPA TEPIGTPOPTS GTOVG LOVOTOAKOVG
KWNTAPEG e YNKTPES

14) T e&ummpetel to TOMYUA OVTIGTAOONG G £V KV TP EVOAAUGCOUEVOD
PEVUOTOG GELPAC.

15) T'oti KGmo1ot omd Tovg KvnTHPES GEPAG He ynkTpeg ovopalovtar universal

16) Moo givar to KO0 mTAeovEKTUa. TV universal kivntypwv

17) Tt cvpPaivel 6tav Evag KIvnTHPOG GLVEXOVG PEVIOTOG GEPGG AELTOVpYEL €
EVOALOGGOUEVO pELLOL

18) And 1 e€aptdrte 1 TayOTNTA TEPIGTPOPNG GTOVG UNiversal kivntpeg

19) Moot kv Thpeg Exovy peyaAdTEPT AITOSOGT Ol LIKPOL HEYEDOLC 1) peydAov
peyéboug

20) [Tota To TAEOVEKTHLLOTA TOV KIVNTHPOV UE LOVILO HOyVITN KOl YNKTPEC.

21) TToto givor To PACIKO PHEOVEKTNIOA TOV KIVITHP®OV LOVILOV LOYVITY.

22) Tog pmopei va yivel aAlayr 6NV Qopd Kivnong 6Toue KIvNTHPES LE LOVILLOVG
HOYVITES.

23) [g yivetarl  puOUION GTPOPDY GTOVG KIVITTHPES LE LOVILO LOyVITY.

24) T1o¥ YpNGIULOTOI0VVTAL O1 KIVITHPES UE LOVILO LOYVITH KO YNKTPEG.

25) [Ipoteivetat 600 SaPoPeTIKOVE TPOTOVE 00N YNONGS KIVITHP®OV UE UOVILOVG
Loty VI TEG KOl YNKTPEG,.

26) ITota eivor To TAEOVEKTILLOTOL KOIL TTOL0L TOL LELOVEKTNLLOTOL TOV KIVIITHPOV UE
HOVILLO poryviTN X®PIG YIKTPES.

27) Avapépete 600 TOLAAYIGTOV DAIKA TEYVITAOV HOYVNTOV TOV YPNCULOTO0HVTOL
OTOVG KIVITHPEG LOVILLMV LLOYyVITDV.

28) Ao T amoTEAEITOL O GTATNG KOl OO TL O POTOPAG TOV KIVITHPOV LOVIILOV
HOYVNTOV XOPIG YAKTPES.

29) Avapépete TOLAAYLGTOV dVO THTOVG KMOIKOTOMT®V (Encoders) .

30) T e&umnpeTtoHV 01 KOOKOTOMTEG KO TG AVTOL YPNCIUOTOLOVVTOL.

31) Tt givan to resolver.

32) [Tota To KOPLOL YOPOKTNPIOTIKA TMV KIVTHPOV SErvo

33) Avapépete TOLAAYLGTOV dVO SLOPOPETIKOVG TOTTOVG KIVITHP®V Servo

34) ITota ivor To, TAEOVEKTILLOTO TV EVOVYPAUU®Y EVOVTL TOV TEPICTPOPIKDOV SENVO
KIVITNPOV .



35) [Tota ivar To KPLTHPLEL ETAOYHG TOV KIVIITHPOV SEervo.

36) ITotog kKivnpoag mapdyet pikpotepn otddun BopvBov amd Tovg Servo kot step.

37) [To1og amtd TOovg KIvnTAPEG SEIVO Kot Stepper givat oo omrodoTikog Kot yioti.

38)'Evag fnpatikdg Kivntpog SImoAMKOS 600 GpAcemV OO GTUaTa EAEYYOVL OTotTEl
OO0 TOV HKPOEAEKTY].

39) [Toca Pripata Kavel og pia TEPIGTPOPN EVOG PNUATIKOC LOVOTOAMKOG 60 GpACEMV
dtav Aertovpyel og Agrtovpyio oo Prpotog kot to mAfpeg fpo sivon 3,6°.

40) T1mdg Aettovpyodv ot YNeLoKoi Servo Kivntipec.

41) TTob ypNoOTOI0VVTAL Ol TAPATAVED KIVITHPEG.

42) Me 11 ofjuato. propovpe va edéyEovpe éva RC servo kivnmpa.

43) Tt givor 1 ToyOYEVVITPLOL KOIL TOV YXPT|CULOTOLEITL.

44) T givon ta ocuoBnpro. Hall kou mov ypnoonotovvror.

45) And 1L amoteleite 0 poTOpOG EVOS KIviThpa ovTidpacns 1 andOnong.

46) I1dg pmopove vo. puOUIGOVLLE TNV TAYVTNTO TEPLGTPOPNG EVOG KIVNTIPOL
universal.

47) ZuykpivovTog To YopuKTNPLOTIKA TV apOpmv KVNTHP®OVY To1oi Bempovvtat ot
KOADTEPOL KIVIITNPES GE OTL APOPE TNV ATOS0GN KO TNV POTH.

48) T1 ovoualovpe dtodicOnon.

49) TTotog tHmOC KivnTpa Elvat 0 TAEOV ¥PTGILOTOLOVUEVOS GTOV KOGHLO.

50) Xe ndoeg KAAONG KOTOVELOVTOL Ol ETOYMOYIKOL KIVIITHPES KO TOL0 YOPAKTNPLOTIKO
elval avtd TOL KATUTAGGEL TOLG KIVNTIPES OTIS KOTNYOPleg ALTEG.

51) X¢ moteg KatNyopiec KOTOTAGGOVTAL Ol LETATPOTNG O€ OTL OPOPE TNV
TPOPOOHTNOT| TOVG .

52) ITowx givon  apyn Aettovpyiog twv kvntipov E.P.

53) [Totot kvntApeg ovopalovtat chyypovol Kot 010l AGVOYYPOVoL,

Epotmosig pe anavtioeig vmé tny poper] morami@dv ETAOYAOV.

1. The starting winding of a single-phase motor is placed in the
(@) rotor

(b) stator

(c) armature

(d) field.

2. One of the characteristics of a single- phase motor is that it
(a) is self-starting

(b) is not self-starting

(c) requires only one winding

(d) can rotate in one direction only.

3. After the starting winding of a single- phase induction motor is disconnected from
supply,

it continues to runonly on ............ winding.

(a) rotor

(b) compensating

(c) field

(d) running

4. If starting winding of a single-phase induction motor is left in the circuit, it will



(a) draw excessive current and overheat
(b) run slower

(c) run faster

(d) spark at light loads.

5. The direction of rotation of a single-phase motor can be reversed by
(a) reversing connections of both windings

(b) reversing connections of starting winding

(c) using a reversing switch

(d) reversing supply connections.

6. If a single-phase induction motor runs slower than normal, the more likely defect is
(a) improper fuses

(b) shorted running winding

(c) open starting winding

(d) worn bearings.

7. The capacitor in a capacitor-start induction- run ac motor is connected in series
with ......

winding.

(a) starting

(b) running

(c) squirrel-cage

(d) compensating

8. A permanent-split single-phase capacitor motor does not have
(a) centrifugal switch

(b) starting winding

(c) squirrel-cage rotor

(d) high power factor.

9. The starting torque of a capacitor-start induction-run motor is directly related to the
angle o between its two winding currents by the relation

(a) cos a

(b) sin a

(c) tan o

(d) sin o/2.

10. In a two-value capacitor motor, the capacitor used for running purposes is a/an
(a) dry-type ac electrolytic capacitor

(b) paper-spaced oil-filled type

(c) air-capacitor

(d) ceramic type.

11. If the centrifugal switch of a two-value capacitor motor using two capacitors fails
to

open, then

(a) electrolytic capacitor will, in all probability, suffer breakdown

(b) motor will not carry the load

(c) motor will draw excessively high current



(d) motor will not come upto the rated speed.

12. Each of the following statements regarding a shaded-pole motor is true except
(a) its direction of rotation is from un- shaded to shaded portion of the poles

(b) it has very poor efficiency

(c) it has very poor p.f.

(d) it has high starting torque.

13. Compensating winding is employed in an ac series motor in order to
(a) compensate for decrease in field flux

(b) increase the total torque

(c) reduce the sparking at brushes

(d) reduce effects of armature reaction.

14. A universal motor is one which

(@) is available universally

(b) can be marketed internationally

(c) can be operated either on dc or ac supply
(d) runs at dangerously high speed on no-load.

15. In a single-phase series motor the main purpose of inductively-wound
compensating winding is to reduce the

(a) reactance emf of commutation

(b) rotational emf of commutation

(c) transformer emf of commutation

(d) none of the above.

16. A repulsion motor is equipped with
(a) a commutator (b) slip-rings

(c) a repeller

(d) neither (a) nor (b).

17. A repulsion-start induction-run single- phase motor runs as an induction motor
only when

(a) brushes are shifted to neutral plane

(b) short-circuiter is disconnected

(c) commutator segments are short- circuited

(d) stator winding is reversed.

18. If a dc series motor is operated on ac supply, it will

(a) have poor efficiency

(b) have poor power factor

(c) spark excessively

(d) all of the above

(e) none of the above.

ITowo givar to KOpro TAeovékTUa TV universal kivntypwv



19. An outstanding feature of a universal motor is its
(@) best performance at 50 Hz supply

(b) slow speed at all loads

(c) excellent performance on dc. supply

(d) highest output kW/kg ratio.

20. The direction of rotation of a hysteresis motor is determined by the
(a) retentivity of the rotor material

(b) amount of hysteresis loss

(c) permeability of rotor material

(d) position of shaded pole with respect to the main pole.

21. Speed of the universal motor is

(a) dependent on frequency of supply
(b) proportional to frequency of supply
(c) independent of frequency of supply
(d) none of the above.

22. In the shaded pole squirrel cage induction motor the flux in the shaded part always
(a) leads the flux in the unshaded pole segment

(b) is in phase with the flux in the unshaded pole segment

(c) lags the flux in the unshaded pole segment

(d) none of the above.

23. Which of the following motor is an interesting example of beneficially utilizing a
phenomenon that is often considered undesirable ?

(a) hysteresis motor

(b) reluctance motor

(c) stepper motor

(d) shaded-pole motor.

24. Usually, large motors are more efficient than small ones. The efficiency of the
tiny motor used in a wrist watch is approximately.......... per cent.

@1

(b) 10

(c) 50

(d) 80

Answers
1b2.b3.d4.a5.b6.d7.2a8.2a9.p10.b11.212.d13.d14.c15.d16.a17.c18.d
19.d20.d21.a22.c23.a24.a



